Economics Exam Review

Complete these questions using your notes.  They are a good indication of the type of question you may see on the exam.  We will go over the answers in class.  
Good Luck!
1. How do we measure economic activity of a country?  What are some pros and cons of using this measure?
2. You were planning to spend Saturday studying for exams.  However, your friend invites you to go to Moncton.  You do some shopping and you help your friend pay for gas and this totals $350.  You also don’t do as well on your exams.  What is the true cost of going to Moncton?
3. Explain why the following statement is false: If a country is able to produce all products more cheaply than any other country can, then there is no advantage in trade. Give an example showing that there is always an advantage to trade. 

4. You have been asked to give a speech at the next city council meeting on unemployment.  Briefly discuss the different types of unemployment, the costs of unemployment to Bathurst and how the unemployment rate here in Canada is calculated.

5. Below is a Production Possibilities Frontier for a country that produces only beef and wheat.  Make sure you discuss all important points.
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6. A friend tells you that the GDP of China is three times the GDP of Sweden.  Does this imply that China is better off economically than Sweden?  Why or why not?
7. Inflation is falling in Canada and unemployment is rising.  
a. At what stage of the business cycle are we in?

b. What are some characteristics of this stage of the business cycle?

c. What would the Federal government do to keep inflation under control? ( this is not a one sentence answer)
d. What would the Bank of Canada do to help bring inflation down into an acceptable range? (this is not a one sentence answer)
8. Which will have a larger effect on the Consumer Price Index (CPI) - a 10% increase in the price of transportation or a 10% increase in the price of going to the movies? 
9. In each of the following questions, use a diagram to illustrate how each event affects the market equilibrium price and quantity of coffee.

a. The price of coffee beans falls.

b. The incomes of consumers go down and coffee is assumed to be a normal good.
c. Tea, a substitute of coffee, decreases in price.

d. Minimum wage increases by .50

10. Joe and Betty both produce butter and cheese. Joe can produce 100 pounds of butter or 150 pounds of cheese. Betty can produce 120 pounds of butter or 160 pounds of cheese.
a. Who has the absolute advantage in producing butter?

b. Who has the absolute advantage in producing cheese?

c. Create a PPF for both Betty and Joe on the same set of axis.

d. Who has the comparative advantage in producing butter?

e. Who has the comparative advantage in producing cheese?

11. Name the three barriers to trade and give a brief explanation of each.

Also, any questions from previous quizzes and assignment are a great help when studying for the exam.
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